otazka Riprim |R2prim ([R3priim |R4prim |R5prim [R6prim |R7 prim |R8 prim
1 1,5 1 1 1 2,5 1 2 2
2 2,5 2 3 1,4 2 2,5 3 2
3 2,5 2,4 3,3 1 1 1 3 2
4 2 1 1 1 1,5 1,5 2
5 1 1 nevi 1 1 1
6 1 1 1 1 1

prim. celk. 1,75 1,4 1,72 1,07 1,5 1,25 1,92 1,7




R9 priim |R10 priim (R11 priim [R12 prim |R13 priim [R14 prim |R15 prim |R16 priim (R17 pram

1 1 2 1,4 1 1 1 1 1
2 1 2 2,2 1 2 2 2 1,8
2 1 1,5 1,8 1 1 2 1
1 1 1 1 1 1 1
1 1 1 1 1 1 1
1 1 1 1 1 1 1

1,33 1 1,42 1,4 1 1,17 1,5 1,17 1,13




R18 prim |R19 priim |priim. celkem
1 1 1,28
1 2,25 1,98
1 1,6
1 1,16
1 1
1 1
1 1,21 1,35




